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Mohit.. 20 hours ago

Thank-you Sir for this Magical Class Session of today's.. A, @
And

My Answer for today's homewaork is like-

Option D- 14cm..

Read more
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Deepali Rajlani 17 hours ago
Answer of homework
Option-D 14 cm
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SIRC=CQO:C0O=5::B0=11-5=6::BQ=BP=6****AB = AP+PB=8+6=14.... THANK
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A circle is inscribed in a quadrilateral ABCD, touching sides AB, BCCD and DA at P, Q, R and S,
respectlv ly. If AS= 8cm BC-11cm a%i CR=5cm, then the length AB is equal to:

ABCD H AB, BC CD P Q, R 3R s TR Tgf
i% gfe As =8 BC 11 &ﬁ?CR 5 T, a‘rmrg %




If 3cos?A + 6sin?A = 3, then the value of A is




In ABC, AD L BC at D and AE is the bisector of A. If B=72° and C=26°, then what is the measure of

DAE?_

ABCH D UR AD L BC 3MR AE, A BT THIGHTST® g | Afe B=72° 3MR c=26°, Al DAE BT AU HIT
?




In a class of 80 students, the ratio of the urban to the rural is 5:3. In a test, the average score of the
rural students is 40% more than that of the urban students. If the average score of all the students is 69, then
what is_the average score of ther raI students?
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(cos9"+5inB1%)(sec9” +cosecBl”) .

The value of

sin56° sec34+cos25® cosects”




A and B, working together, can complete a work in 16day, C and A together can complete it in

32 days, B and C together can compete it in 24 days. They worked together for 12 days. In how

many days will C alone complete the rema|n| work?
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In a AABC, D and E are two points on 5|de AB and BC, respectively such that AD: DB= 2:3 and DE | |

AC. If the area of AADE is equal to 18 cm?, then what is the ar 1%r;cmz) of AABC?
TS ABCH, D3I E SHHTT: AB 3R BC e% AD: DB 2:3 3 DE | | THTI
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Two trains of equal length travellmg in opposite directions at 72 km/h and 108 km/h cross each other in 10
seconds. In how much time (in seconds) does the first train crgss a platform_of length 350 m?
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Ifx+y+z=19x*+ y* +2z* = 133, thenthevalue of x* + y* + 2° — 3xyzis:




In AABC, AD is the bisector of £BAC, meeting BC at D. If AC=21 cm, BC=12 cm and the length of BD
is 2 cm less than DC, then the lengt ?ﬁof 5|de AB is:

%ltrI%Ac 21}, BC= 12 AH 3R
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If a 10-digit number 46789x531y is divisible by 72, then the value of (2x + 5y), for the largest value
of x is:
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